

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG 1	1	EVE8CP16	Global EV502 2-Pack 16" - Jumper Cable, Panel to Panel	\$ 136.00	\$136.00
2	1	EVE8FR1	Skipped Option 72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
3	2	EVE8PD36	Skipped Option 36", Power Distribution Housing	\$ 231.00	\$462.00
4	1	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
5	1	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
6	1	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	1	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
8	1	EVHC18L	Skipped Option 18", Left, Single Cantilever	\$ 110.00	\$110.00
9	1	EVHC18R	Skipped Option Skipped Option 18", Right, Single Cantilever	\$ 110.00	\$110.00
10	4	EVHEP2924	Skipped Option Skipped Option 28"h x 24"w, Laminate End Panel	\$ 280.00	\$1,120.00
11	2	EVPERA42	Skipped Option ~STD Standard Paint Colors Skipped Option Skipped Option 42"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 102.00	\$204.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
12	2	EVPFAM4236	42"h x 36	w, Monolithic Fabric Acoustic Panel	\$ 475.00	\$950.00
			RTR	Removal of Panel Top Cap (Use when Specifying Privacy G	ass and Con	tinuous To
			~STD	Standard Paint Options	ass and Con	undous ic
				Skipped Option		
				Panel Grade 1		
			01	Outside Position 1		
				Skipped Option		
			~GR1	Grade 1 Fabrics		
			I1	Inside Position 1		
				Skipped Option		
				Skipped Option		
13	1	EVPIC42	42"h, Inlin Trim	ne Panel Connector, Includes Post & Hardware, No	\$ 86.00	\$86.00
			~STD	Standard Paint Options		
				Skipped Option		
			•••	Skipped Option		
14	2	EVPMP36GIP		'w, Panel Mount Privacy Glass, Integrated Channel with Aluminum Top Trim for Square Glass	\$ 335.00	\$670.00
			~STD	Standard Paint Colors		
				Skipped Option		
			CLR	Clear		
				Skipped Option		
15	2	EVWS2472P		'w, Straight Rectangular Worksurface with Scoops, Edge Trim	\$ 394.00	\$788.00
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
16	2	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$590.00
			Skipped Option Skipped Option		
17	1	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.0	00 \$1,546.00
			~ (STD) Thermally Fused Laminate, High Performance (1" The	ick)	
			~PRNCTOP Princeton Top Finishes		
			Skipped Option ~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			K-STD C-Key Random (STD)		
			 No Change - (STD) Left Position 		
			Skipped Option		
18	1	PN2360NCR	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.0	00 \$1,546.00
			 (STD) Thermally Fused Laminate, High Performance (1" This 	ick)	
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		



 ITEM
 QTY.
 PRODUCT CODE

 K-STD
 C-Key Random (STD)

 ~
 No Change - (STD) Right Position

 ...
 Skipped Option

ALIAS SUBTOTAL: \$8,849.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG 19	3	EVE8CP16	Global EV502 4-Pack 16" - Jumper Cable, Panel to Panel	\$ 136.00	\$408.00
20	1	EVE8FR1	Skipped Option 72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
21	4	EVE8PD36	Skipped Option 36", Power Distribution Housing	\$ 231.00	\$924.00
22	2	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
23	2	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
24	2	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
<u> </u>			Skipped Option		_
25	2	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
26	2	EVHC18L	Skipped Option 18", Left, Single Cantilever	\$ 110.00	\$220.00
27	2	EVHC18R	Skipped Option Skipped Option 18", Right, Single Cantilever	\$ 110.00	\$220.00
28	1	EVHCB2	Skipped Option Skipped Option Corner Brackets Left and Right (Pair)	\$ 31.00	\$31.00
29	6	EVHEP2924	Skipped Option Skipped Option 28"h x 24"w, Laminate End Panel	\$ 280.00	\$1,680.00
			Skipped Option ~STD Standard Paint Colors Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
30	2	EVPERA42	42"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 102.00	\$204.00
			Skipped Option		
			Skipped Option		
31	4	EVPFAM4236	42"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 475.00	\$1,900.00
			RTR Removal of Panel Top Cap (Use when Specifying Privacy Gl	ass and Con	tinuous Tc
			~STD Standard Paint Options		
			Skipped Option		
			~GR1 Panel Grade 1 O1 Outside Position 1		
			Skipped Option		
			~GR1 Grade 1 Fabrics		
			I1 Inside Position 1		
			Skipped Option		
			Skipped Option		
32	3	EVPIC42	42"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 86.00	\$258.00
			~STD Standard Paint Options		
			Skipped Option		
			Skipped Option		
33	4	EVPMP36GIP	12"h x 36"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 335.00	\$1,340.00
			~STD Standard Paint Colors		
			Skipped Option		
			CLR Clear		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
34	4	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$1,576.00
			Skipped OptionSkipped OptionSkipped OptionSkipped Option		
35	2	EVWSSL01	Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 58.00	\$116.00
GCU			~STD Standard Paint Colors Skipped Option Skipped Option		
36	4	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$1,180.00
			~01 Grade 01 Skipped Option Skipped Option		
37	2	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.0	00 \$3,092.00
			 (STD) Thermally Fused Laminate, High Performance (1" Thi PRNCTOP Princeton Top Finishes Skipped Option PBODY Princeton Storage Body Laminates Skipped Option Door / Drawer Front Finishes 	ck)	



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Left Position		
			•••	Skipped Option		
38	2	PN2360NCR	Shelf (LT), Overlappii	w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Locking, Use w/ Overlapping Returns and ng Bridges that have a 5"h Metal Open Frame RINCETON	\$ 1,546.0	0 \$3,092.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Thi	ck)	
			~PRNCTO	Princeton Top Finishes		
				Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
				Skipped Option		
			~DOOR	Door / Drawer Front Finishes		
				Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Right Position		
			•••	Skipped Option		

ALIAS SUBTOTAL: \$ 16,936.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global EV502 6-Pack		_
39	5	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$680.00
40	1	EVE8FR1	Skipped Option 72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
41	6	EVE8PD36	Skipped Option 36", Power Distribution Housing	\$ 231.00	\$1,386.00
42	3	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
43	3	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
44	3	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
<u> </u>			Skipped Option		_
45	3	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
46	3	EVHC18L	Skipped Option 18", Left, Single Cantilever	\$ 110.00	\$330.00
47	3	EVHC18R	Skipped Option Skipped Option 18", Right, Single Cantilever	\$ 110.00	\$330.00
48	2	EVHCB2	Skipped Option Skipped Option Corner Brackets Left and Right (Pair)	\$ 31.00	\$62.00
49	8	EVHEP2924	Skipped Option Skipped Option 28"h x 24"w, Laminate End Panel	\$ 280.00	\$2,240.00
			Skipped Option ~STD Standard Paint Colors Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
50	2	EVPERA42	42"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 102.00	\$204.00
			Skipped Option		
			Skipped Option		
51	6	EVPFAM4236	42"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 475.00	\$2,850.00
			RTR Removal of Panel Top Cap (Use when Specifying Privacy Gl	ass and Con	tinuous Tc
			~STD Standard Paint Options		
			Skipped Option		
			~GR1 Panel Grade 1		
			O1 Outside Position 1		
			Skipped Option ~GR1 Grade 1 Fabrics		
			I1 Inside Position 1		
			Skipped Option		
			Skipped Option		
52	5	EVPIC42	42"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 86.00	\$430.00
			~STD Standard Paint Options		
			Skipped Option		
			Skipped Option		
53	6	EVPMP36GIP	12"h x 36"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 335.00	\$2,010.00
			~STD Standard Paint Colors		
			Skipped Option		
			CLR Clear		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
54	6	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$2,364.00
			Skipped Option Skipped Option Skipped Option		
			Skipped Option		
55	4	EVWSSL01	Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 58.00	\$232.00
			~STD Standard Paint Colors Skipped Option Skipped Option		
GCU			11 - 21		
56	6	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$1,770.00
			~01 Grade 01 Skipped Option Skipped Option		
57	3	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.0	00 \$4,638.00
			 (STD) Thermally Fused Laminate, High Performance (1" Thi PRNCTOP Princeton Top Finishes Skipped Option PBODY Princeton Storage Body Laminates Skipped Option DOOR Door / Drawer Front Finishes 	ck)	



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Left Position		
			•••	Skipped Option		
58	3	PN2360NCR	Shelf (LT), Overlappi	w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Locking, Use w/ Overlapping Returns and ng Bridges that have a 5"h Metal Open Frame RINCETON	\$ 1,546.0	0 \$4,638.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Thi	ck)	
			~PRNCTOI	P Princeton Top Finishes		
				Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
				Skipped Option		
			~DOOR	Door / Drawer Front Finishes		
				Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Right Position		
			•••	Skipped Option		

ALIAS SUBTOTAL: \$ 25,023.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
550			Global EV502 8-Pack		
59	7	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$952.00
60	1	EVE8FR1	Skipped Option 72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
61	8	EVE8PD36	Skipped Option 36", Power Distribution Housing	\$ 231.00	\$1,848.00
62	4	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
63	4	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
64	4	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
65	4	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
66	4	EVHC18L	Skipped Option 18", Left, Single Cantilever	\$ 110.00	\$440.00
67	4	EVHC18R	Skipped Option Skipped Option 18", Right, Single Cantilever	\$ 110.00	\$440.00
68	3	EVHCB2	Skipped Option Skipped Option Corner Brackets Left and Right (Pair)	\$ 31.00	\$93.00
69	10	EVHEP2924	Skipped Option Skipped Option 28"h x 24"w, Laminate End Panel	\$ 280.00	\$2,800.00
			Skipped Option ~STD Standard Paint Colors Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
70	2	EVPERA42	42"h, End of Run Post, Includes Post, Hardware & Aluminum Trim		\$204.00
			Skipped Option		
			Skipped Option		
71	8	EVPFAM4236	42"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 475.00	\$3,800.00
			RTR Removal of Panel Top Cap (Use when Specifying Privacy Gl	ass and Con	tinuous Tc
			~STD Standard Paint Options		
			Skipped Option		
			~GR1 Panel Grade 1		
			O1 Outside Position 1		
			Skipped Option ~GR1 Grade 1 Fabrics		
			I1 Inside Position 1		
			Skipped Option		
			Skipped Option		
72	7	EVPIC42	42"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 86.00	\$602.00
			~STD Standard Paint Options		
			Skipped Option		
			Skipped Option		
73	8	EVPMP36GIP	12"h x 36"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 335.00	\$2,680.00
			~STD Standard Paint Colors		
			Skipped Option		
			CLR Clear		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
74	8	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$3,152.00
			 Skipped Option Skipped Option Skipped Option Skipped Option 		
75	6	EVWSSL01	Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 58.00	\$348.00
GCU			~STD Standard Paint Colors Skipped Option Skipped Option		
76	8	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$2,360.00
			~01 Grade 01 Skipped Option Skipped Option		
77	4	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.0	00 \$6,184.00
			 (STD) Thermally Fused Laminate, High Performance (1" Thi PRNCTOP Princeton Top Finishes Skipped Option PBODY Princeton Storage Body Laminates Skipped Option DOOR Door / Drawer Front Finishes 	ck)	



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Left Position		
			•••	Skipped Option		
78	4	PN2360NCR	Shelf (LT), Overlappii	w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Locking, Use w/ Overlapping Returns and ng Bridges that have a 5"h Metal Open Frame RINCETON	\$ 1,546.0	0 \$6,184.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Thic	ck)	
			~PRNCTO	Princeton Top Finishes		
			•••	Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
			•••	Skipped Option		
			~DOOR	Door / Drawer Front Finishes		
			•••	Skipped Option		
			K-STD	C-Key Random (STD)		
			~	No Change - (STD) Right Position		
			•••	Skipped Option		
			ALIAS SU	JBTOTAL: \$ 33,110.00		

TOTAL EXTENDED LIST: \$83,918.00